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Pass Profi Total rades Profit Factor | Expected Payof Drawdown§  Drawdown %

% 145106 2 217 5374 09,72 9.0

100 145106 2 217 5374 o09.72 504
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What does this message mean? Does anybody know? What records does this sentence mean? What does it mean that some of the registers are rejected?








What do those numbers mean? As far as i know, the third number, that is to say, 15991 is the size of the input data set for the optimization process calculated as: (80000-50)/5 + 1 . However, I do not know what the numbers 1088 and 1280 mean and where they come from. Could please anybody explain that to me?


Thanks a lot in advance.





I would like to know why in this case shown, according to the Optimization Results tab it seems that the expert advisor is run just for a few of the data inputs from the whole input data set, to be precise, 115 data inpunts. However, I think the Optmization Results tab should include15991 results since that is the size of the whole input data set according to the inputs tab shown in the first page of this file screens.doc








